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THE OPEN UNIVERSITY OF SRI LANKA

BACHELOR OF MANAGEMENT STUDIES DEGREE (BMS) - LEVEL 5
FINAL EXAMINATION 2016

PROJECT APPRAISAL - MCU 3204

DURATION: THREE (03) HOURS

DATE : 09.07.2016 TIME : 1.30 p.m. -4.30 p.m.

Instructions: (I) Answer Question 1 (compulsory) and any THREE (03) from others.
" (II) Use of non-programmable calculators is allowed.
(III) A PV table is attached herewith.

1. Beta Manufacturing PLC. is planning to invest in one project. They have got two projects
for consideration, Project A and Project B, with unequal life spans. Shown below are the
net cash flows associated with each project.

Cash Flow (Rs. ‘000s)

Period Project A Project B
0 -60,000 -110,000
1 20,000 30,000
2 20,000 25,000
3 25,000 60,000
4 25,000

In addition to the above cash flows, commencement of Project A and Project B requires an
increase in working capital of Rs.7.0 million and Rs. 6.0 million, respectively.

The opportunity cost of capital for project A is 14 percent. The opportunity cost of capital
for project B is 10 percent.

i.  Select the best project based on net present value of each project. (06 Marks)
ii. Select the best project based on internal rate of return of the projects. (10 marks)
iii. Which project should be accepted in each of the following situations:
(a) The projects are mutually exclusive and there is no capital constraint. (03 marks)
(b) Beta Manufacturing PLC. expects to recover their investments before the end of
third year. (05 Marks)
(¢) Beta Manufacturing PLC. only prefers the projects with highest net benefit to their
investment. (08 Marks)



iv.  Explain the possible reasons for why the cost of capital requirement for Project A is
higher than that of Project B. (03 Marks)

v.  What will be the risk of making the investment decision based only the above
methods in appraising these projects? Discuss. (05 Marks)

(Total= 40 Marks)

i. Explain the sources of project ideas for Government sector projects. Explain with
suitable examples.

ii. Discuss the key differences that can be seen between public sector projects and private
sector projects. Describe how the sources of ideas for new projects for private sector
organizations differ with those of public sector projects.

(20 Marks)

i. Explain what is meant by market analysis of a project

ii Describe how a project manages, in evaluating projects,ensures market feasibility of a
project. Strengthen your answer with suitable examples.

(20 Marks)

i. “Technological package should not necessarily be the most modern, but should be the
most suitable one.” Comment on this statement.

ii. Describe why it is important to focus on human resource and organizational aspects in
project appraisal.

(20 Marks)

i What are the practical issues that can be seen in implementing public sector projects?
Explain.

ii. Incomplete financial appraisal is the major reason for failures of most projects”.
Comment.

(20 Marks)

Write short notes on the following in relation to projects and project appraisal.
i. Internal sources of financing

ii.  Risk of inflation

iti.  Exchange rate fluctuations

iv. Externalities of a project

v. Trade agreements between countries

(4 marks each: total 20 Marks)
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